

AA'C BB'

~~AB~~

AA'C

~~AB~~

b_2	b_1
λ	$\alpha + \lambda'$
a_1	a_1'

$$ab_2(\alpha + \lambda') = \lambda a_1 b_1$$

$$\frac{\lambda}{\lambda' + \alpha} = \frac{ab_2}{a_1 b_1} \quad \frac{\lambda'}{\lambda + \alpha} = \frac{a_1' c_1}{a c_1}$$

$$\frac{\lambda}{l} = \frac{b_2}{b} \cdot \frac{1}{1 - \theta_c} \quad \frac{\lambda'}{l} = \frac{a_1' c_1}{a c} \cdot \frac{1}{1 - \theta_b}$$

$$\lambda + \alpha + \lambda' = l$$

$$\frac{\alpha}{l} = \frac{\Delta}{abc} \cdot \frac{1 - \theta_a}{I}$$

$$\frac{d\lambda'}{d\lambda} = \dots$$

$$\frac{d\mu v}{d\mu u} = \frac{a_2 b_2 c_2}{P a b c} \quad \lambda'$$